Some Extra
Euclidian Fun



Why is a Leaky Faucet Like a Race Horse?

TO ANSWER THE IMPORTANT QUESTION ABOVE:

Complete any statement below with one of the B Cc
answers given at the bottom of the page. Then write
the letter of the statement above its correct answer.

KEEP WORKING AND YOU WILL DISCOVER
THE ANSWER. -—

@ The figure formed by two rays with the same endpoint is an

@ The basic unit by which angles are measured is the

@ The intersection of the two sides of an angle is called the angle’s

@ The small box at the vertex of ZAOB indicates that ZAOB
measures

@ An angle with a measure of 90°is called a ___ angle.
(S PointCisinthe ______ of /BOD.

@ An angle whose measure is between 90°and 180°isan ______ angle.

@ Two angles whose measures have asum of 90° are angles.

(@ «BOCand «BOAare ______ angles.
@ Two angles whose measures have a sum of 180° are angles.
@ An angle whose measure is between 0°and 90°is an_______ angle.

(F) LAOEand ______ are supplementary angles.
@ £CODand _______ are complementary angles.

@ Two angles having the same measure are said to be
@ £COD and £ZAOE are congruent because they are angles.
® The two rays that form an angle are calledthe ___ of the angle.
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Daffynition Decoder

TO DECODE THESE THREE DAFFYNITIONS, FOLLOW THESE DIRECTIONS:

Figure out the measure of the unknown angle in any exercise. Then find this .
measure in the code. Each time it appears, write the letter of that exercise above it.

KEEP WORKING AND YOU WILL DECODE THE THREE DE-FUN-ITIONS.

RAINCOAT:

40° 80° 132° 35° 95° 90° 48° 66° 90° 36° 48°
PASTEURIZE:

40° 130° 130° 105° 36° 48° 40° 130° 30° 90° 090°

WILL:

36° 95° 90° 36° 95° 55° 33° 50° 90° 36° 66° 36° 31°

® IFms1 = 48°, THEN m/3 =
OIFms1 =48, THEN mz4 =
M IFm/6 = 40°, THEN m/5 =
® IFm/7 = 54°, THEN m/8 =

®IFms7 =59, THEN m6 =

O IFms5 = 57°, THEN mz8 =

—— -

@ IFms3 =50°, THEN m29 =

®IFmz12 =120°, THENmz3 =
®IF ms7 = 55° AND m/9 = 45°, THEN m£15 =

——

N IF mz3 = 46° AND m214 = 99°, THEN m/8 =

—

W IF mz9 = 290° AND m215 = 85°, THEN m27 =

®IFms8=37°AND m~3 = 38, THEN m214 =

——

@ IFm£7 = 40° AND m215 = 90°, THEN m£12 =

©IFms3=35ANDm16 = 90°, THEN m28 =
® IF m£8 = 40° AND m£12 = 140°, THEN m215 =

®IFms7 =55°AND mz1 = 50°, THEN m2 16 =
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